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Graph the following quadratic equations. Find the axis of symmetry and the vertex.

13.y=x2-2x+3
x=_1

15. y=-x2+4x -2

[ x=_ 2
Vertex: 2} Vertex: (2 /3
Point: ,;) (i) Point: {&,-2)
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L1 ear Eguaﬁon: equaE1ons withan exponenE of one. CrapIE are [ .

Standard Form y=mx+b

Quadratic Equations: equations with an exponent of two (squared). Graphs are o«

Standard Form y=ax®+bx+c [

N
./ Opening up

/\, Opening down (flipped) ne ativeg O

Wrrite the quadratic equation in standard form and determine if the graph opens up or down.

1) y=2e+x-1 2) y=3-x-x2 3) y=-32+1-4x
) I GEE { (= -2
o= 0 i
v Dowsnd D
4) y=4-3x 5) y=x+9x2 6.) y=3x2+5x2-3x+2
P L 4= G4 ¢ x §= 81% —2x 42
= D { .

Dowsad Ut
Vertex: the lowest or the highest point of the graph

N
4 ok O shege)

Axis of Symmetry: the vertical line through the vertex
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Axis of Symmetry and x-coordinate of the vertex

1
1
x is half way between p and q :
1

Find the axis of symmetry of the parabola.

4) y=-2(x-1)(x-5)
p—: { a»: s

x=prtq ek
2 ‘ 1
5) y=3(x+2)(x~4) 6.) y=-x(x+5)
P= -2 % 4 Y’:(‘X‘d‘{ xx <€)
X= ”1'7',J N
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Find the vertex of the parabola. Find x by counting half way between p and q. Find y by plugging
x into the given equation.

B) y=—4lx+1(x-1) 9) y=3(x-6)(x-4)
Pl qrnt pr e g4
| = & =0 w= @ 2 Qg
Vo= - NN
(1 e Clo ) s)
Graph the following quadratic equahons Find the axis of symmetry and the vertex.

) y = 2(x + 2)(x - 4) 1) y=-x(x+2) Y ~ (% O)k*'QZ) y=(x+3)(x-3)
x=__1 x=_-1 :
Vertex: (({, 1% . Vertex: (~{ ¢ )

Point: (=2, ©) ( 4.¢) Point: (0:0) (-2,¢)

P q= -2
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Graph the following quadratic equations. Find the axis of symmetry and the vertex.

y =-2(x +2)(x - 4) 1) y=-x(x+2) 4~ ~ (¥ C)W‘}z) y= (x+3)(x 3)
xX= { x=_" [

Vertex‘ (L LE) . Vertex: (1 )
Point: [~ 2, &) ( 4 (o) Point: o) (- z‘c/)

pro q=





